

$$30. \lim_{n \rightarrow \infty} \frac{(1 \cdot 1!)^2 + (2 \cdot 2!)^2 + \dots + (n \cdot n!)^2}{((n+1)!)^2} = \lim_{n \rightarrow \infty} \frac{a_n}{b_n} \stackrel{(*)}{=} \lim_{n \rightarrow \infty} \frac{a_{n+1} - a_n}{b_{n+1} - b_n} =$$

$$b_n = ((n+1)!)^2$$

$$\lim_{n \rightarrow \infty} b_n = +\infty, \quad b_n \uparrow$$

$$= \lim_{n \rightarrow \infty} \frac{((n+1) \cdot (n+1)!)^2}{((n+2)!)^2 - ((n+1)!)^2} = \lim_{n \rightarrow \infty} \frac{(n+1)^2 \cdot ((n+1)!)^2}{((n+1)!)^2 ((n+2)^2 - 1)} =$$

$$= \lim_{n \rightarrow \infty} \frac{(n+1)^2}{(n+2)^2 - 1} = 1.$$

35. (x_n) монотон

$$\lim_{n \rightarrow \infty} (2x_{n+1} - x_n) = x, \quad x \in \mathbb{R}$$

(x_n) конвертира?

1) П. $x_n \uparrow$ $x_{n+1} > x_n$

x_n ограничена?

$$2x_{n+1} - x_n = x_{n+1} + \underbrace{(x_{n+1} - x_n)}_0$$

ако x_n није ограничена онда $\lim_{n \rightarrow \infty} x_n = +\infty \Rightarrow \forall M > 0 \exists n_0 \forall n \geq n_0 \quad x_n > M$
 $\Rightarrow 2x_{n+1} + \underbrace{(x_{n+1} - x_n)}_0 > M$
 $\Rightarrow \lim_{n \rightarrow \infty} (2x_{n+1} - x_n) = +\infty \nmid x \in \mathbb{R}$

$\Rightarrow x_n$ мора бити ограничена.

п. $x_n \downarrow$

$$2x_{n+1} - x_n = x_{n+1} + \underbrace{(x_{n+1} - x_n)}_{< 0} \quad \Rightarrow \lim_{n \rightarrow \infty} (2x_{n+1} - x_n) = -\infty \nmid x \in \mathbb{R}$$

x_n није ограничена $\Rightarrow \lim_{n \rightarrow \infty} x_{n+1} = -\infty$

$\Rightarrow x_n$ ограничена.

$\Rightarrow x_n$ конвертира! $\lim_{n \rightarrow \infty} x_n = y$

$$\Rightarrow x = \lim_{n \rightarrow \infty} (2x_{n+1} - x_n) = 2y - y = y.$$

33. $\lim_{n \rightarrow \infty} a_n = a$, $\alpha \in (0, 1)$, $\lim_{n \rightarrow \infty} \alpha^n = 0$, $\lim_{n \rightarrow \infty} \frac{1}{\alpha^n} = +\infty$, $\lim_{n \rightarrow \infty} \left(\frac{1}{\alpha}\right)^n = +\infty$

$$\lim_{n \rightarrow \infty} a_n + \alpha a_{n-1} + \dots + \alpha^{n-2} a_2 + \alpha^{n-1} a_1 = \lim_{n \rightarrow \infty} a_n + \frac{1}{\alpha} \cdot a_{n-1} + \frac{1}{\left(\frac{1}{\alpha}\right)^2} a_{n-2} + \dots + \frac{1}{\left(\frac{1}{\alpha}\right)^{n-1}} a_1$$

$$= \lim_{n \rightarrow \infty} \frac{\left(\frac{1}{\alpha}\right)^{n-1} \cdot a_n + \left(\frac{1}{\alpha}\right)^{n-2} \cdot a_{n-1} + \left(\frac{1}{\alpha}\right)^{n-3} a_{n-2} + \dots + a_1}{\left(\frac{1}{\alpha}\right)^{n-1}}$$

$$\stackrel{(*)}{=} \lim_{n \rightarrow \infty} \frac{\left(\frac{1}{\alpha}\right)^n \cdot a_{n+1}}{\left(\frac{1}{\alpha}\right)^n - \left(\frac{1}{\alpha}\right)^{n-1}} \stackrel{WT}{=}$$

$$b_n = \left(\frac{1}{\alpha}\right)^{n-1}, \quad \lim_{n \rightarrow \infty} b_n = +\infty$$

$$b_{n+1} = \frac{1}{\alpha} \cdot b_n > b_n \quad \checkmark$$

$$= \lim_{n \rightarrow \infty} \frac{\frac{1}{\alpha} \cdot a_{n+1}}{\frac{1}{\alpha} - 1} = \lim_{n \rightarrow \infty} \frac{a_{n+1}}{1 - \alpha} = \frac{a}{1 - \alpha}$$